Prepared by EHS Solicitation No.: B-12-041-RA Contract No.: C-12-044-RA SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS PROPOSAL: Job No. 12-0113 (O&M) & 12-1401 (CIP) 2012 Annual Water Distribution Leak Repairs Contract - Package 2 TIME & 2:00 P.M. DATE: July 25, 2012			Austin Constructors, LLC 7907 S. FM 973 Austin, TX 78719		National Power Rodding Corp. 9810 FM 969 Austin, TX 78724		Pronto Sandblasting & Coating & Oilfield Services Co., Inc. 9456 South Presa San Antonio, TX 78223		
Itam No		Unit of Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total
item No.	Estimate Qty	Issue	Description	Omt Price	Total	Oint Price	Total	Omt Frice	Total
103.1	100.00	LF	Remove Concrete Curb	\$5.00	\$500.00	\$3.00	\$300.00	\$10.00	\$1,000.00
103.3	125.00	SY	Remove Sidewalks and Driveways	\$5.00	\$625.00	\$7.00	\$875.00	\$36.00	\$4,500.00
200	35.00	CY	Flexible Base (Complete in place)	\$90.00	\$3,150.00	\$73.00	\$2,555.00	\$36.00	\$1,260.00
203	50.00	GAL	Tack Coat	\$15.00	\$750.00	\$17.00	\$850.00	\$20.00	\$1,000.00
205.4	325.00	SY	Hot Mix Asphalt Concrete Type "D" Two (2) Inch Thickness	\$30.00	\$9,750.00	\$167.00	\$54,275.00	\$100.00	\$32,500.00
208	75.00	CY	Salvage, Haul, Stockpile Asphalt Concrete Pavement	\$20.00	\$1,500.00	\$11.00	\$825.00	\$520.00	\$39,000.00
401	75.00	CY	Flowable backfill (TxDOT Spec)	\$110.00	\$8,250.00	\$133.00	\$9,975.00	\$250.00	\$18,750.00
500.1	115.00	LF	Concrete Curbing	\$24.00	\$2,760.00	\$48.00	\$5,520.00	\$30.00	\$3,450.00
500.3	20.00	LF	Concrete Gutter	\$28.00	\$560.00	\$48.00	\$960.00	\$40.00	\$800.00
502.1	60.00	SY	Concrete Sidewalks	\$48.00	\$2,880.00	\$63.00	\$3,780.00	\$140.00	\$8,400.00
503.1	50.00	SY	Concrete Driveways	\$58.00	\$2,900.00	\$86.00	\$4,300.00	\$150.00	\$7,500.00
503.2	40.00	SY	Commercial Driveways	\$68.00	\$2,720.00	\$103.00	\$4,120.00	\$160.00	\$6,400.00
508	30.00	LF	Relocate Fence	\$40.00	\$1,200.00	\$28.00	\$840.00	\$12.00	\$360.00
511.3.1	20.00	SY	Cutting and replacing pavements (10" ATB & 3" HMAC)	\$75.00	\$1,500.00	\$305.00	\$6,100.00	\$240.00	\$4,800.00

Prepared by EHS Solicitation No.: B-12-041-RA Contract No.: C-12-044-RA SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS PROPOSAL: Job No. 12-0113 (O&M) & 12-1401 (CIP) 2012 Annual Water Distribution Leak Repairs Contract - Package 2 TIME & 2:00 P.M. DATE: July 25, 2012			Austin Constructors, LLC 7907 S. FM 973 Austin, TX 78719		National Power Rodding Corp. 9810 FM 969 Austin, TX 78724		Pronto Sandblasting & Coating & Oilfield Services Co., Inc. 9456 South Presa San Antonio, TX 78223		
Item No.	tem No. Estimate Qty Issue Description		Unit Price	Total	Unit Price	Total	Unit Price	Total	
511.3.2	20.00	SY	Cutting and replacing pavements (6" ATB & 2" HMAC)	\$60.00	\$1,200.00	\$285.00	\$5,700.00	\$200.00	\$4,000.00
515	60.00	CY	Topsoil	\$45.00	\$2,700.00	\$23.00	\$1,380.00	\$24.00	\$1,440.00
516.1	15.00	SY	Bermuda Sodding	\$8.00	\$120.00	\$23.00	\$345.00	\$10.00	\$150.00
516.2	35.00	SY	St. Augustine Sodding	\$10.00	\$350.00	\$23.00	\$805.00	\$10.00	\$350.00
530	85.00	EA	Barricades, Signs and Traffic Handling	\$500.00	\$42,500.00	\$1,265.00	\$107,525.00	\$3,000.00	\$255,000.00
550	200.00	LF	Trench Excavation Safety Protection	\$5.00	\$1,000.00	\$4.00	\$800.00	\$1.00	\$200.00
805.1	10.00	HR	Police Officer	\$60.00	\$600.00	\$69.00	\$690.00	\$50.00	\$500.00
824.11	10.00	EA	Reconnect 3/4" Service	\$500.00	\$5,000.00	\$2,020.00	\$20,200.00	\$760.00	\$7,600.00
824.12	5.00	EA	Reconnect 1" Service	\$500.00	\$2,500.00	\$2,100.00	\$10,500.00	\$900.00	\$4,500.00
824.13	1.00	EA	Reconnect 1 1/2" Service	\$600.00	\$600.00	\$2,600.00	\$2,600.00	\$1,500.00	\$1,500.00
824.14	1.00	EA	Reconnect 2" Service	\$600.00	\$600.00	\$3,300.00	\$3,300.00	\$1,900.00	\$1,900.00
824.21	10.00	EA	Relay 3/4" Short Service	\$2,500.00	\$25,000.00	\$1,600.00	\$16,000.00	\$1,250.00	\$12,500.00
824.22	3.00	EA	Relay 1" Short Service	\$2,500.00	\$7,500.00	\$1,700.00	\$5,100.00	\$1,560.00	\$4,680.00

SAN ANTON P. O. BOX 2449 SAN ANTONIO, T TABULATION OF PROPOSAL: Job No. 12-0113 (C		ONIO, TEXAS 78298-2449 FION OF BIDS -0113 (O&M) & 12-1401 (CIP) all Water Distribution Leak Repairs Package 2	Austin Constructors, LLC 7907 S. FM 973 Austin, TX 78719		National Power Rodding Corp. 9810 FM 969 Austin, TX 78724		Pronto Sandblasting & Coating & Oilfield Services Co., Inc. 9456 South Presa San Antonio, TX 78223		
Item No.	Item No. Estimate Qty Issue		Description	Unit Price	Total	Unit Price	Total	Unit Price	Total
824.23	2.00	EA	Relay 1 1/2" Short Service	\$3,000.00	\$6,000.00	\$1,900.00	\$3,800.00	\$2,000.00	\$4,000.00
824.24	1.00	EA	Relay 2" Short Service	\$3,000.00	\$3,000.00	\$2,400.00	\$2,400.00	\$2,400.00	\$2,400.00
824.31	3.00	EA	Relay 3/4" Long Service	\$3,000.00	\$9,000.00	\$2,500.00	\$7,500.00	\$2,000.00	\$6,000.00
824.32	2.00	EA	Relay 1" Long Service	\$3,000.00	\$6,000.00	\$2,700.00	\$5,400.00	\$2,100.00	\$4,200.00
824.33	2.00	EA	Realy 1 1/2" Long Service	\$3,200.00	\$6,400.00	\$2,800.00	\$5,600.00	\$2,600.00	\$5,200.00
824.34	1.00	EA	Relay 2" Long Service	\$3,200.00	\$3,200.00	\$3,200.00	\$3,200.00	\$3,000.00	\$3,000.00
828.1	2.00	EA	Replace 6" Gate Valve	\$6,000.00	\$12,000.00	\$3,200.00	\$6,400.00	\$1,900.00	\$3,800.00
828.2	2.00	EA	Replace 8" Gate Valve	\$6,500.00	\$13,000.00	\$3,600.00	\$7,200.00	\$2,700.00	\$5,400.00
828.3	1.00	EA	Replace 10" Gate Valve	\$7,500.00	\$7,500.00	\$4,500.00	\$4,500.00	\$3,800.00	\$3,800.00
828.4	1.00	EA	Replace 12" Gate Valve	\$8,000.00	\$8,000.00	\$5,400.00	\$5,400.00	\$4,200.00	\$4,200.00
834.1	6.00	EA	Replace Fire Hydrant	\$6,500.00	\$39,000.00	\$5,500.00	\$33,000.00	\$4,700.00	\$28,200.00
834.2	2.00	EA	Replace Fire Hydrant and 6" Valve	\$7,200.00	\$14,400.00	\$7,400.00	\$14,800.00	\$6,000.00	\$12,000.00
844	6.00	EA	Replace Blow-Off Assembly	\$5,500.00	\$33,000.00	\$3,400.00	\$20,400.00	\$1,800.00	\$10,800.00

P. O. SAN TAB PROPOSAL: Job N 2012 Cont TIME & 2:00		P. O. BOX SAN ANT TABULA Job No. 12	CONIO, TEXAS 78298-2449 TION OF BIDS 2-0113 (O&M) & 12-1401 (CIP) ual Water Distribution Leak Repairs Package 2	Austin Constructors, LLC 7907 S. FM 973 Austin, TX 78719		National Power Rodding Corp. 9810 FM 969 Austin, TX 78724		Pronto Sandblasting & Coating & Oilfield Services Co., Inc. 9456 South Presa San Antonio, TX 78223	
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total
1015	35.00	EA	Service Line Leak Repair, 3/4" to 2"	\$4,500.00	\$157,500.00	\$2,400.00	\$84,000.00	\$2,400.00	\$84,000.00
1020.1	12.00	Joint	6" Water Main Leak Repair, Pipe Replacement Method	\$4,500.00	\$54,000.00	\$5,100.00	\$61,200.00	\$4,000.00	\$48,000.00
1020.2	5.00	Joint	8" Water Main Leak Repair, Pipe Replacement Method	\$4,500.00	\$22,500.00	\$5,700.00	\$28,500.00	\$4,700.00	\$23,500.00
1020.3	2.00	Joint	10" Water Main Leak Repair, Pipe Replacement Method	\$5,000.00	\$10,000.00	\$6,400.00	\$12,800.00	\$5,300.00	\$10,600.00
1020.4	2.00	Joint	12" Water Main Leak Repair, Pipe Replacement Method	\$5,000.00	\$10,000.00	\$7,900.00	\$15,800.00	\$6,100.00	\$12,200.00
1020.5	10.00	EA	Water Main Leak Repair, Clamp Installation Method, 6" to 12"	\$4,500.00	\$45,000.00	\$5,700.00	\$57,000.00	\$4,000.00	\$40,000.00
3000.7	4.00	EA	Removal, Transportation and Disposal of A.C. Pipe	\$6,500.00	\$26,000.00	\$4,000.00	\$16,000.00	\$2,500.00	\$10,000.00
			Total bid amount including Addendum #1		\$614,215.00		\$665,120.00		\$745,340.00
CALENDAR DAYS TO COMPLETE					160 [1]		160 [2]		160 [3]